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o Please check that this question paper contains 12 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

) Please check that this question paper contains 30 questions.

o Please write down the Serial Number of the question before attempting
it’

® 15 minute time has been allotted to read this question paper. The question paper

will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
S OMIE]
ECONOMICS
fAiRa 8% : 3 U2 SfYFHTH 3% : 100
Time allowed : 3 hours Maximum Marks : 100
58/1 1 YEARS P.T.O.

QUESTION PAPER.COM



QAT (7397 :

G) @l el & gyt 5o ifare &1

(i) FOH T & G 379 37F 9T TH &1

(iii) F¥T Q@1 -5 3R 16 - 20 37f7 T FTIT F97 &, FeAH F97 1 37 F1 6| T F97 & ST
TF arFg B e &

(iv) T GET 6-8 3 21-23 TG SHIT FoT 8, TP 973 3% FT &/ T4 T & ST
GHEd: 60 =5 @ 3 7 & |

(v) F¥TGET 9- 11 3R 24 - 26 T8 4T T ST F¥7 &, Todd 7 & 4 1 &1 T o4
& IT GHEIA: 70 ¥Is5] G 3714 7 8l 1

(vi) F¥TGET12- 15 3R 27- 30 314 SHIT IIT 6, IUF F¥7 F 6 3F 61 4T 97 & SH
GHd: 100 93] G 374 7 & |
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Instructions :

(1) All questions in both sections are compulsory.

(11) Marks for questions are indicated against each question.

(1ii) Question No. 1-5and 16 - 20 are very short answer questions carrying 1 mark each.
They are required to be answered tn one sentence.

(tv) Question No. 6 - 8 and 21 - 23 are short answer questions carrying 3 marks each.
Answers to them should not normally exceed 60 words each.

(v) Question No. 9 - 11 and 24 - 26 are also short answer questions carrying 4 marks
each. Answers to them should not normally exceed 70 words each.

(vi) Question No. 12 - 15 and 27 - 30 are long answer questions carrying 6 marks each.
Answers to them should not normally exceed 100 words each.

(vit) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.

58/1 5 YEARS

QUESTION PAPER.COM



Qug - A
SECTION - A

1. 9fc $ 3= AFa I &, 1 3T aiadt ara AR ofd g ara § :rEey 1
B ?

What is the relation between Average Variable Cost and Average Total Cost, if
Total Fixed Cost is zero ?

9. e H Ueh o] i fehal ot | &t T ShiFd W o< Wehdll & | T ol HiHiq g 1
(3H) :
(&l Taehed i) :
(2) Trda geTia 9 siferes gt
(b) oirEd et § &4 Bl

) 3Ed e & |9 8

(@ I B

A firm is able to sell any quantity of a good at a given price. The firm’s marginal
revenue will be :

(Choose the correct alternative) :
(a) Greater than Average Revenue
(b) Less than Average Revenue

(c) Equal to Average Revenue

(d) Zero

3. ‘O giedd’ we I ? 1
When does ‘change in demand’ take place ? 1 o

YEARS

58/1 3 QUESTION PAPER.COM  P.T.O.



58/1

farddt Scare 3okt T foioe @

(921 fereheq i) -

(a) oholel TeRTTERINR TIATHTT i

(b) kA HHIYHRN <hl

(©) THITeeRI TfaifiTar 3R stefasr SHi i

(d) TUHIYHRR hi

Differentiated products is a characteristic of :

(Choose the correct alternative) :

(@) Monopolistic competition only

(b) Oligopoly only

(c) Both monopolistic competition and oligopoly

(d Monopoly

29 ISR | Tk Y 1 | o5k AT AeeR eI R

(&1 fashed o) -
@ goi gfaafr

(b) THIHRR
©) TehIaeie Ffadiirar
d) JAATYRR

Demand curve of a firm is perfectly elastic under :
(Choose the correct alternative)

(a) Perfect competition

(b) Monopoly

(c) Monopolistic competition

(d) Oligopoly
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6. o SUTERI Sheel 81 g3 X R Y 1 SUHT Hal €| X R Y i HieAiq sqgin 3
FUI: 3 3R 471 X @R Y IHI R 19 T 4 9 TRE § 1 1 ST G H € 2
U bl 3TH Ffafshan 1 M1 ? SR SIS |

A consumer consumes only two goods X and Y. Marginal utilities of X and Y are
3 and 4 respectively. Prices of X and Y are ¥ 4 per unit each. Is consumer in
equilibrium ? What will be further reaction of the consumer ? Give reasons.

7. A% HI FMA H 10 F9Q gl F1 SR T W R IS S AR AR BT A= 3
(@) T, (b) — 1, () ~2F

What will be the effect of 10 percent rise in price of a good on its demand if price
elasticity of demand is (a) Zero, (b) — 1, (c) —2.

8.  WIIqH HhiAd WA ¥ T ATYIE T 7 3HKR TRUMH THART | 3

T

IS IAHH AR HiHd Fgerd hiAd | ATHF Bl O THFR R TS dlcl FHE hl
G FHEARY |
What is minimum price ceiling ? Explain its implications.

OR

If the prevailing market price is above the equilibrium price, explain its chain
of effects.

9. AT I TR ST | SR [T 1 FHITGT H 9 HRH 93T | 4

Define demand. Name the factors affecting market demand.
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10.

11.

12.

13.

58/1

3FA NI i IRAT ST T 3|0 ST RO ad1d gC 0BT fh
S-S 3ATeA | gfg i Sl § of9d $Tael T 1 SaeR 1 Tl © 7

ST

H1d 3CUTE ol TIRYTHT SIST | 76l hadl Ueh 3T § gfg i S 3R 3= STTal
%! FeR @1 ST 1 9i9id 3cTE &1 S¥agR odTsU |

Define fixed cost. Give an example. Explain with reason the behaviour of
Average Fixed Cost as output is increased.

OR

Define marginal product. State the behaviour of marginal product when only
one input is increased and other inputs are held constant.

ST Teh ICUTE ol ThiHd T 12 TTd Th1E B ST 2 9 Ud ShTS 81 ST §, dl ScaTesh ScuTe
&1 gfd 75 Tfe w8 w1 81 gfd F R A= T Hi |

When price of a commodity falls from % 12 per unit to% 9 per unit, the producer
supplies 75 percent less output. Calculate price elasticity of supply.

e 1fHTE § g e F=ii ey gt 8 2 fraes fa seare famen s
HE g IS TR |

Why do central problems of an economy arise ? Explain the central problem of
“for whom to produce” ?

AATYHM okl o1 a1 TaRIodeT i e Shifsu |

Explain three properties of indifference curves.
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14. (a) T X HI ST FHAd FRA 3R (b) I%] X T FH A R TG4 A1 gid a6 T TS
AT GUTT HSET | IS Rl TANT TS |

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on
good X, on the supply curve. Use diagrams.

gitesm udtentelan o fog wos | 14 & T wW

(a) T X I 3 FHHd A IR (b) %7 X N FX & R FgM h1 Ifd T J91=
THIET | ATfeTahT 1 TINT hifed |

For blind candidates in lieu of Q. No 14.

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on
good X on supply of a good. Use schedule.

15. Teh qUj GiqAnt IR | f=fafad o 9Romi =61 =amen it
(a) Taskarstl =t St @e&
(b) HHET 3
AHAUAT
T AeUYehR ISl | (=fafed & 9ot i e Siisg
() TS WH % Fow H THEL

b) FHIA FS A FS I IUCH

Explain the implications of the following in a perfectly competitive market :
(a) Large number of sellers
(b) Homogeneous products.
OR
Explain the implications of the following in an oligopoly market :
(a) Barriers to entry of new firms

(b) Afew ora few big sellers
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Qug -d

SECTION -B

16. TdTE i T S |

Define flows.

17.

18.

19.

58/1

frefafaa & 9T wReE = H1 9 T A9 FEd ©

(48l forshey giHT)

(a)
(b)
©
(d

AN

st &=

framt

framdt iR IR-framt g1

National income is the sum of factor incomes accruing to :

(Choose the correct alternative)

(a)
(b)
(c)
(d)

Nationals

Economic territory

Residents

Both residents and non-residents

WHR] a2 § Tored Jiitaai 9 A AR 22

What are revenue receipts in a government budget ?

TrfHeR ST 3EF HHHE BT

(HEl fosheq giHT)

(@)
(b)
(©
(d)

el
SIS YT

RUT T TS YITdMH

0T 3T S T Sl

Primary deficit equals :

(Choose the correct alternative)

(a)
(b)
(c)
(d)

Borrowings

Interest payments

Borrowings less interest payments
Borrowings and interest payments both
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21.

22.
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—>

YA Her i@l § il foceit faf e o e o= o e

FEA © : (W fashey gf)
(2) T AT

(b) eI e
ONESIEREE]

(d) THENE 3 A

Foreign exchange transactions which are independent of other transactions in

the Balance of Payments Account are called :
(Choose the correct alternative)

(@) Current transactions

(b) Capital transactions

(¢) Autonomous transactions

(d) Accommodating transactions

Ife ATEAfa 3T T 200 FUS © 3R Fd ol 135 2, @ Hifgeh 31T o1 uicwed
i |

Assuming real income to be ¥ 200 crore and price index to be 135, calculate
nominal income.

HHY A W 1 ATIYE § 2 THH 2k FdET |
3797

guEET fom et emgfd W Fresr T @ afudi 1 8 & R = e 2
What is aggregate demand ? State its components.

OR

Explain how controlling money supply is helpful in reducing excess demand.
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23. T A Ao | T | HHid IUUN Yghda 1 Iieked Hifeg 3
UL 3T =1000
TS U & = 200

e =@ = 100

An economy is in equilibrium. Calculate Marginal Propensity to Consume :
National income = 1000
Autonomous consumption expenditure = 200

Investment expenditure = 100

24, Ugrat 3R Eieiet R &1 foreht, fodioaen o€ vl § fiR 9g W 8 | s9 a4
3CATE SR A0 W TS el FHTET i AT FHiIT |

Sale of petrol and diesel cars is rising particularly in big cities. Analyse its
impact on gross domestic product and welfare.

25. Hgl o1 ‘fafwg o1 wream’ o 9ueERTl 36 o fatma 9 getad gaen w4
T FY fRa R 2

LI

~ ~

ST h1 ' ST ST 1 HIFeh ' hid THHART | 381 ok fafd | Heiferd g
T UM 5 R 82

Explain the ‘medium of exchange’ function of money. How has it solved the

related problem created by barter ?
OR

Explain the ‘standard of deferred payment’ function of money. How has it
solved the related problem created by barter ?

26. THIET ‘TN R’ T THR F0 oA & 50 § Herrw B gt 4

Explain how ‘Repo Rate’ can be helpful in controlling credit creation.
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27. e =1 3R S = § #0 SR €2 TRy H IR Wl o e ywR. 6
TuTet H T & faawor &t gwifad w7 § TeEes 8 9 © |
3reran
Tl Y AR STYe] T H T 3R T 2 HATEHT o 2Tae bl guifad & § T
ST ol fHehT HASAET |

What is the difference between revenue expenditure and capital expenditure ?
Explain how taxes and government expenditure can be used to influence
distribution of income in the society.

OR

What is the difference between direct tax and indirect tax ? Explain the role of
government budget in influencing allocation of resources.

28. T=d IF 9 ST Ik UT HifoY 3R T & | fau M et =R sase | W 6
1 YR T |

Given saving curve, derive consumption curve and state the steps in doing so.
Use diagram.

gfted faenfofan & for o= 9@ 28 & T W
IUUN oA GHIET | STHTT W ¥ o9d Held 9T Ty |
For the Blind Candidates in lieu of Q. No. 28.

Explain consumption function. Derive saving function from consumption
function.

29. YR Faves facen # SuR <d 8| Ffafed av+1 &1 W i 6
(@) YTAH Hged ol % e STerar SR fhe 981 | I8 3UR TS e 2 R
T |
(b) 3H IYR FH IR fafT73 W W U 991150 |

Indian investors lend abroad. Answer the following questions :

(a) Inwhich sub-account and on which side of the Balance of Payments Account
such lending is recorded ? Give reasons.

(b) Explain the impact of this lending on market exchange rate.
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30.
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"IN T W GFha Td 318 3R =T 31/ J1a hifer |

@) Tt eifag Suum ==

(i) Tocell =1 fraer =] gEaiaym
(iii) fercell =1 freret R e
(iv) TR 3ifaq 394 =9

(v) e Agas =X

(vi) fraa e Isft fmifor

(vii) FXHR GRI =Te] BRI
(vii) e T

(ix) THora1 s

(x) TR Dl 9T A

(xi) T R0 WA

(FST)
800
20

(-) 10
300
150
200
40
100
30
90
50

Find Gross National Product at Market Price and Private Income :

(@) Private final consumption expenditure

(i) Net current transfers to abroad

(iii) Net factor income to abroad

(iv) Government final consumption expenditure
(v) Net indirect tax

(vi) Net domestic capital formation

(vii) Current transfers from government

(vii1) Depreciation

(ix) Netimports

(x) Income accruing to government

(xi) National debt interest

12

(X crores)
800
20
(—3 10
300
150
200
40
100
30
90
50
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